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SSC Practice Set-13

A, Band and C can work together for Rs. 550/ A
and B together are to do 7/11 of the work. The
share of C should be?
A, B 31 ¢ faea fenlt & &t ® 550 ﬁl{naﬂﬁ%l
A 3R B #t firems & & 711 WFT 9O & Bl C
&1 Tewmn fomaen grm?
(a) Rs 200 (b)Rs. 300 (c) Rs. 400(d) Rs. 450
In A ABC, the height CD intersects AB at D. The
midpoints of AB and BC are P and Q
respectively. If AD = 8 cm and CD= 6 cm, then
the length of PQ is?
AABC ¥, 3918 CD,AB & D W &Tedt 81 AB 3R
BC & wed fag wwwn: P 3R Q 21 4T AD = 8 &t
3R CD= 6 AWt &, A PQ &t aTs &7 872
(a) 3 cm (b) 7 cm (©)9cm (d)5cm
The price of a chair is Rs. 500. It has been sold
at two successive discount of 10 % each. What
is its selling price?

T FHHl &1 Hd € 500 §1 9 10 % St &t HANT el
W a'r:n T SEET fawa g 4 §?
(a) Rs 400 (b) Rs. 405 (c) Rs. 415(d) Rs. 425

The percent profit made when an article is
sold for Rs. 78 is twice as much as when it is
sold for Rs. 69, the cost price of the article is?
I i3 9% & 78 | del WAt @ at SThT e I a%
H T 69 H du UT N gt N ¥ AT B A% &

N Yo & 272
(a) Rs. 60 (b) Rs. 51
(c) Rs. 55.50 (d) Rs. 70

In a Village panchayat soceity 574 names are
enlisted as 'below poverty level'. If 14% of the
villagers are below poverty level, the total
number of villagers is?

TS A0 Yerad | | 574 99 ¢ TRs 3@ | T @t
et | ynfaer 81 afE Tt & 14 % @R TS @ @ S
£, @i Tifg el @t Her G At 82

(a) 4100 (b) 4200 (c) 4000 (d) 3800

A train 240 meters in length croses a telegraph
post in 16 seconds. The speed of the train is?
240 W, @& 29 TS U @ & 16 YHUE  UR
HAt Bl 27 1 Tl femat 272

(a) 50 km/hr (b) 53 km/hr

(¢) 54 km/hr (d) 56 km/hr

Ifa®+1= a, then the value of adis

10.

11.

12.

13.

q’ﬁ'{a2+1:a3§f, atad
(a) 0 ()1

&1 9F 4 82

(c)-1 (d) 2
2
Ifx+3y=-3x+y, then x_2 is equal to
2y

2
L x+3y=-3x+y B, a‘Tx—zammaam
2y

1 1 1
(a) 8 (b) 2 (c) 4 (d) 4
From an extenal point two tangents to a circle
are drawn. The chord passing through the
points of contact subtends an angle 72° at the
centre. The angle between the tangents is?
T S fog @ feht gu &t @ sl Yand Eist 8 2
U fargall @ BieT T arelt Siar 72° S0 & &g
U AR St 1 w9l Tl & e & fhad W
T g?
(a) 36° (b) 72° (c)108° (d) 144°
Length of three line segments is given. Is
construction of at triangle possible with the
segments in the given cases?
i TS WUl it oatg & M8 g1 e fearfa o @uEl
A By &1 fmfor daa 22
(a) 8 cm,7cm, 18 cm
(c) 10 cm 6 cm, 4 cm

If sinb+ cosechb =2,
sin"? 0+ cosec’ 0 is
qfe sinb + cosechb = 2 ﬁ,ﬁ sin"’ 0+ cosec’d I
o &= 872

(a) 2 (b) 277 (c) 2 @2t

A man has some hens and some cows. If the
total number of heads of hens and cows
together is 50 and the number of feet of hens
and cows together is 142, then the number of
cows is

T e & U B qhTar 3T FB T {) aﬁigﬁlﬁ
ww%ﬁﬁﬁwmm%gﬁnﬁqa

YT ot TEAT 142 B, O TNt & fhat @ ?
()21 (b) 25 (c) 27 (d) 29

In a class, average height of all students is 'a’
cms. Among them, average height of 10
students is 'b' cms and the average height of
the remaining students is 'c' cms. Find the

(b) 8 cm, 15 cm, 17 cm
(d) 8 cm, 10, cm 20 cm
then the

value of
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2

14.

15.

16.

17.

18.

19.

20.

number of students in the class. (Here a > ¢ and
b>o0
Tt e o At BEN & AHd g o' At 1 s
@ 10 B &t 3Ea TaE b’ AW ? T N9 I &t
MEa @arg ‘¢! At} Fwam A BE W W@ AW
FNTT? (TWa>c A b> ¢)
(a)(a(b-c)/(a-c) (b)(b-¢)/(a-c)
(e)(b-c¢)/(10(a - 0) (d)10b-0e)/(a-c)

3V 5J5
VB2 V24T

The simplified value of

+——2\/E is
J7+45
37 55 2.2
— + <hl FH(_'“@a HHAH =T
V5442 V2447 JT+45
22
(a)0 (b) 1 ()5 (d)6

If (@a+b-6)2 +a?+b% +1+2b = 2ab+ 2a, then
the value of a is

T (a+b-6)2 +a? +b2 +1+2b= 2ab + 2a B,Ma
&1 U 4 3?

(a) 7 (b) 6 (c) 3.5 (d) 2.5

Two circles of radii 17 ecm and 8 em are
concentric. The length of a chord of greater
circle which touches the smallere circle is

17 At 3i7 8 At FoIewn aTet &Y g Hahfah 81 B g9

Ft WY F@ A S g9 F AT fwa @

(a) 15cm  (b) 16cm (¢)30cm (d) 34 cm

The least six digit number which is a perfect

square is

gaﬂaﬁé}gz 3! aTell a8 HI- W WA § St guf aif
?

(a) 100489 (b) 100000  (c) 100256 (d) 100225

The percentage change of a number when it is

first decreased by 10% and then increased by
10% is

wa Tt T@n @ UEd 10 % 9ern WA € 3 R
10 % ST AT @ @, 39 T ¥ fhaw gfava ulads
g ?

(a) 0.1 % increase (b) 1 % decreas

(c) 0.1 % decrease (d) No changes

Find the angular elevation of the Sum when

the shadow of a 15 cm long pole is % metres

ﬁmmwmﬂﬁ@ﬁﬁwl—émﬁwm@

T HIVAT IAIT F it

(a)45° (b) 60° (¢)30° (d)90°

If 2ycost = xsinb and 2x secb-ycosect=3
then what is the value of x2 + 4y2 ?

21.

22.

23.

24.

25.

i 2ycosB = x sinf AR 2% secb - ycosecH =3 at
x2+4y’ FUR FNE ?

(a) 4 (b) 1 (c) 2 (d)5

The difference between compound interest
and simple interest on an amount of Rs. 15,000
for 2 years is Rs. 96 . The rate of interest per
annum is ?

Rs 15,000 &1 THT WX 2 a¥ & whghs A ST
AU &I & otel Rs 96 &1 31X g1 alfdeh s &%
et gRTT?

(a) 6 % (b) 7 % (c) 8 % (d)9 %

In the given Pie chart, the comparative study
of the production of Rice, Wheat , Sugar and
Tea of a country is given. Study the Pie-Chart
and answer the following questions.

feu o urg-=rE ¥ 29T # WrEw, A, Wi SR u &
IWET &1 ol Jeaaq foar an g1 frferfaa
gyl & I AT I UgahT S|

30%

SUGAR 10%

From this diagram , the ratio of sum of wheat

and sugar production to difference in

production of rice and tea is

3H NG & IER 7 3 o+t & F&@ I qen

o1ae A 99 & IS & TN HT UM ThaT 872

(a)4:5 (b)5:4 (c)6:1 (d) 1:6

The production of rice and tea is more/ greater

than production of wheat by-

%113?'1 iR o *T SWEA A & e | foRa samen
?

(a) 50 % (b) 100 % (c) 75 %

The Central angle of Wheat % is

1§ % &1 "eA HivT fhan felt &1 & ?

(a)48° (b) 98° (¢)110° (d) 108°

The total production of Rice, Wheat, sugar and

Tea (In Kgs) is 50000 kgs. The production of

Rice in the country is

rae, g, il ST 9 &1 $e Sded 500000 .70

21 291 ¥ wrae 1 e TR 872

(a) 175000 kg (b) 395000 kg

(c) 275000 kg (d) 27500 kg

(d) 66. 6 %
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—ANSWER KEY

1. (a) 2. (d) 3. (b) 4. (a) 5. (a) 6. (c) 7. (c) 8. (a) 9.(c) 10. (b)
11. (c) 12. (@) 13.(d)  14. (@)  15. (c) 16. (c) 17. (@)  18. (b)  19. (b)  20. (a)
21. (c) 22. (@) 23.(b) 24.(d)  25.(c)

HINT & SOLUTIONS

1.

Let Total & = 11 € = A+ B+ C
A+ BHRI&M = 7Yfe
CHIFM=11-7= 47

mwﬁﬁ SE e H e e

550 4~ 900 %o
11

AADC — THHI A
/CDB = /CDA = 90°
6 8

10 — Triplate
! 1
CD AD AC.
€
Q
A P B

- P mid point of AB

® mid point of BC.

BP : BA=BQ : BC
=PQ : AC
=1:2

AC = 2 9ffe — 10 THffo
PQ =1 3f1e — 5 Ifto
3. First Method :
10% = 2%
10 — Mp
Mp Sp
10 9
10 9
100 81
100 e = 500 To
1gfE = 5%o
81f12 = 81x 5%o
= 405 %o

Second Method :

I Ieell B2 a%, T ARG B2 = b%

axb)

@E:( +b- %
ENIEL a 10 o

0.
o 10 x 10
TRIHAFE = 10 + 10 1
=19%
Let Mp (3ifd qo) = 100 gf7e
T2 =197
Sp(faoqo) = 81912
100 g€ = 500 %o
1gf1E = 5%o

819 = 5x 81 = 405%0

First Method :
HATCp = x %o
Sp="78%o0
oY (profit) = (78— x) To
Second Method :
Cp=x o
Sp =69 %o
profit = (69 — x) To
A.T.Q.
(78-x) = 2(69 - x)
78— x =138- 2«
x =138-178
x =60 %o
Second Method :
go through options...
Option1—60 %o = Cp
Spy =78 %o,
Profit = 78— 60 = 18 %o
Spy =69 %o,
Profit =69 -60 =9 %o
Cp=60 %o

AT T aTelt @t o G = 100 e
- T W@ | A = 14 g
14 9fE = 574
=574 _
19 = ”

100 gfe = 4100
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T A § f A H TRt oft & yqemet &1 AT gwwn

6. é:[ 1 T (S) - T?f (distance)

| (time) et ST | §er g 21
2220 mtr/sec (187,18
16 8+7 #18
_ 240 18 15 # 18
3106 185 (i) 8, 15, 17
= 2>< = 54 farto/soar 8+15 17
x5 923> 17 Satisfied
7. First Method : So, 8, 15, 17 makes a triangle.
a2 +1=a

11. sin®+ cosec = 2

a’?-a+1=0 ] 1
a3 +1=(a+D2+1-a) Let s1nG:x:>cosec8:;
; i(a+1)(0) x+l:2
a®°+1=0 X
ad=-1 € hod a9 T S x = 1
Second Method : 7 7 (1Y
2 = in ‘B+4+cosec'B=x"" +|—
a“+tl=a x
a+1=1 {-.-aax+1=1a6r, Y 1 _ 17 1
a X x7 17
3
x°=-1 1 1
03 =-1 _1—7+1—7_1+1_2
8. x+3y=-3x+y 12. 3fe @it gfifen &, q@ 8 &t G = 50 x 2 = 100
4x = -2y 1
x -2 1
——Z:—E 1H’ﬁé?a'{
Y " Ffe i MY SR, 99 T B G = 50 x 4 = 200
izl[ﬁ -1(1.1 )
2y2 2y2: 2141 8 11112@31?1
3. T G2 x2) =100 = 200
P
R
PT,PR T ¥9% @M
0 — T 1 &% 13. 991 &1 8 = «

i B S EA To = g o
H‘iﬂ@'ﬁﬁﬁwao =x % a@'ﬁﬁo
10 BT & & T = b Teto

10BN R FAA =10 x b
=10 b gt

T WA B 99 % s Ty 3@ WA v = 90°
- TIqYS % =RI IO S AT = 360°
/PTO + ZTOR + ZPRO + ZTPR = 360°
90 + 72+ 90 + ZTPR = 360°
ZTPR =180 - 72

ZTPR = 108° IEBH = (x - 10)
Or ZTPR =180 - ZTOR 39 BT 6t e 3 = ¢ 9
=180 - 72 = 108° (x - 10) BHAIHI A T = (x — 10) X ¢

xXxa=10xb+(x-10)xc
xa = 10b + xc — 10¢
x(a-c)=10(b-c¢)

10. 8, 15, 17 — Triplate
CLEILRERED!
Or go through options :
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_10(6-o0)
" (a-0

14. 31 55 22
VB+2 V24T JT+4B
BT _ 3T V5-42
52 ViB Vb2

_3WT(5-+2) OD — B2 g9 i s = 8 Ao
3 OB — &2 99 & f3sa1 = 17 ¥Hto
=35 -414 OD (fr=an) =gl Y@ AB W HWHIT SR

55 V247 _ 5V5(/2-T) OD, DB, OB —Triplate (-- AODB—> FH&T™)
2T 2T (B L3
= —/5(J2-T) 8 15 17

=410 + /35 AB=2xDB=2x15=30cm

22 _ 22 JT-45
V745 T+5 \T-45
_ 227 -5)

17. 6 3! & WA Bl & = 100000

5 317
1
- 37 -45) a”
- \/_ \/_ 61 (100
3\/7 5\/5 2\/7 \/_ \/_ ( J_ +1 61
\F+ \/7 \/7+ \/7 \/7+ \/7 627 W
++/35) + /14 - /10 4389
=0 Ans. _ 489

15. @+b-6)2+a?+b%2+1+2b=2ab+2a

B W B T = 4
(a+b-6)2+a? +b2+1426-2ab-22=0 100000 + 489

=100489
(@a+b-6)2+(-a+b+D?=0
a+b-6=0 18. Orignal New
a+b=6 ...(1) 10 9
-a+b+1=0 10 11
a=b+1 100 99
b+1+b=6 1% decrease
2b=5 Or.
b=2.5 T IS EEH T2 a% FIeTE ST SR o1E § ¢ % o1 S al
at+tb=6 a2 )
=|— %
0+ 92.5-6 total decrease (100 | o
a=3.5 Ans.
= 1010 = 1% decrease.
16. 100
19. A
' 15 mtr
C 15 B
V3
AB

tanf = —
BC



—)aﬁzﬁasia%

Cl & Sl @1 Difference

15,000 x 2 x —*_ - 96
100 100

x2

15,000 x

100 unit — 500000
1 unit — 5000
55unit — 55x 5000
= 275000
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_ 15 i x% =64
1543 i x =8% Ans.
tanf = /3 i Second Method :
tan® = tan60 i r _|D
0 =60° ! 100 P
20. 2 6= x sin® N r =, D = Difference b/w
). 2y cosB = x sin , " o ... (@) : CI&S.I
cosB = x sin !
g x 2y i Ll ki
cos® sin® i ﬁ = 159(?00
£ 2 .G :
cosB sinB i o 16
2x secB — y cosecB =3 ' 2500
2 _ v _ | r 4
cos® sinf i 100 50
4x =l 2y = (111) i r=8% Ans.
cosB sinb !
(ii)—(iid) (22250
3 _ g | 22, (T + =) (SmEer-wm)
cosO i (40%) (50%)
X _ 9 ! 4 5 Ans.
cosB i
eq () ¥ 1 23. (W16 + °E) = 60%
2y cosB = x sinf i T = 30%
4 : i 30 60
2y cosB = 2.c0s8s1n8 o .
y = —sinb ..Gv) | 30
x2+4y? =4cos?0+4sin?0 ! %XNO:IOO%
4(sin®0+ cos?0) = 4 x 1 i —
-4 Ans. | 24. W%
i 30 "
21. First Method : Let r = x% i 30% = 100 %360
15,000 i — 1080
x% y% !
| 25. ot - 500000, s
&) O T
N i = 275000 kg.
3 i Or

——— =96
100 x 100



